
The following data points in the original tables are inconsistent with paper plots. They 
are updated with xy-scan, and the new values are summarized here. 
 
(K0s 0-60%)  
pT= 1.892, v2 = 0.09028 +- 0.006944 
pT= 2.092, v2 = 0.1102 +- 0.008796 
pT= 2.292, v2 = 0.1181 +- 0.01111 
pT= 2.492, v2 = 0.1120 +- 0.01389 
pT= 3.371, v2 = 0.0872 +- 0.0259 
 
(K0s 0-20%)  
pT= 0.318, v2 = 0.02045 +- 0.01177 
pT= 2.092, v2 = 0.1008 +- 0.01227 
pT= 2.493, v2 = 0.09486 +- 0.01967 
pT = 3.771, v2 = 0.04766 +- 0.04673 
 
(K0s 20-60%)  
pT= 1.892, v2 = 0.1087+- 0.01099 
pT = 3.373, v2 = 0.08938 +- 0.03844 
 
(Lambda 0-60%)  
pT= 0.5068,  v2 = 0.01635 +- 0.009791 
pT= 0.7058,  v2 = 0.03126 +- 0.005041 
pT= 2.492,  v2 = 0.1393 +- 0.009259 
pT= 2.692,  v2 = 0.1329 +- 0.01250 
pT= 2.968,  v2 = 0.1412 +- 0.01204 
 
(Lambda 0-20%)  
pT= 1.295,  v2 = 0.06050 +- 0.004828 
pT = 1.692, v2 = 0.08084 +- 0.006238 
pT= 1.892,  v2 = 0.0917+- 0.006589 
pT= 2.491,  v2 = 0.1191 +- 0.01224 
pT= 3.37,  v2 = 0.1442 +- 0.02498 
pT= 3.77,  v2 = 0.09931 +- 0.03666 
 
(Lambda 20-60%)  
pT=1.693, v2 = 0.1328 +- 0.00746 
pT=2.092, v2 = 0.1588 +- 0.009844 
pT=2.292, v2 = 0.1705 +- 0.01225 
pT= 2.692,  v2 = 0.1903 +- 0.01900 
pT= 2.969,  v2 = 0.1545 +- 0.01896 
pT= 3.37,  v2 = 0.1644 +- 0.03009 
 


